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2. In this question you should show all stages of your working.
Solutions relying on calculator technology are not acceptable.
Given
9x—1
W = 81
express y in terms of x, writing your answer in simplest form.
3)
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2. Find, using algebra, all real solutions to the equation

(i) 16a2=2+a

(i) b* + 7> — 18 = 0

(C))

C))
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3. In this question you must show all stages of your working.
Solutions relying on calculator technology are not acceptable.
(1) Solve the equation
X2 —18 =x
writing the answer as a surd in simplest form.

3)

(i1) Solve the equation

e
22 3
.
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12. A student was asked to give the exact solution to the equation E558
224 — 9(2%) =0 ot
SO
The student’s attempt is shown below: %
27 =929 =0
2% +24=9(29=0
Let 2=y
V=9 +8=0
%
-8y —-1H=0 b
S8
=8 =1 SRR
ymoory s
et
SRRLLS
SSS
Sox=3o0orx=0 55
(a) Identify the two errors made by the student.
2
(b) Find the exact solution to the equation.
2
. v,
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2. Simplify the following expressions fully.
0.5
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3. Answer this question without the use of a calculator and show your method clearly.

(1) Show that

J@%@@:sﬁ

u
2)
(ii) Show that 5
1742
NPT
A3

N
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blank
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3. Answer this question without a calculator, showing all your working and giving
your answers in their simplest form.
(1) Solve the equation
42x+ 1 — 84x
3)
(i1) (a) Express
W18 - 32
in the form k~/2 , where k is an integer.
(2)
(b) Hence, or otherwise, solve
318 - 32 =
(2)
.
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2. (1) Given that —= = 7°, find the value of a.
V7 @
(ii) Show that ——0— = 1542 + 20
J18 — 4
You must show all stages of your working.
3
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3. Given that

1
Y

express each of the following in the form kx" where k and n are constants.

(a) y3

(1)
(b) 3y"!

(1)
(©) (27y)

(1)
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1. Simplify the following expressions fully.

(a) (%)’

(b) V2(x*) = \/iz

(1)

2
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2. Without using your calculator, solve

x\/ﬁ+21:6—x

NG

Write your answer in the form a~/b where a and b are integers.

You must show all stages of your working.

C))
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4. Answer this question without the use of a calculator and show all your working.
(1) Show that

4 =222 +3)

22 -6
4
(i1) Show that
V27 + 2 x 7 - =83
V3
3
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3. (a) Simplify

V50 18

giving your answer in the form a~/2, where a is an integer.

(b) Hence, or otherwise, simplify

1243
J50 — 18

giving your answer in the form bc , where b and c are integers and b # 1

2
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1. Simplify
(@) (2V5)
(1)
V2 . : :
(b) ————— giving your answer in the form a + Vb, where a and b are integers.
245 - 342 @)
2
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